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Determine whether each of the following relations are reflexive, symmetric and
transitive:

(i)Relation Rin the set A = {1, 2, 3...13, 14} defined as
R=A(x,y):3x —y =0}

(ii) Relation R in the set N of natural numbers defined
asR=A{(x,y):y=x+5and x < 4}

(iii) Relation RinthesetA =41, 2, 3,4, 5, 6}

asR = {(x, y): y is divisible by x}

(iv) Relation R in the set Z of all integers defined

asR = {(x, y): x — yis as integer}

(v) Relation R in the set A of human beings in a town at a particular time given by
(@) R = {(x, y): x and y work at the same place}

(b) R =A{(x, y): x and y live in the same locality}

(c) R = {(x, y): xis exactly 7 cm taller than y}

(d) R =A(x, y): x is wife of y}

(e) R = {(x, y): x is father of y}

Answer

(YA ={1,2,3..13, 14}

R={(x,y):3x -y =0}

+R ={(1, 3), (2,6),(3,9), (4,12)}

R is not reflexive since (1, 1), (2, 2) ... (14, 14) ¢ R.

Also, R is not symmetric as (1, 3) €R, but (3, 1) ¢ R. [3(3) — 1 # 0]
Also, R is not transitive as (1, 3), (3, 9) €R, but (1, 9) ¢ R.

[3(1) =9 # 0]

Hence, R is neither reflexive, nor symmetric, nor transitive.
(iR=A(x,y):y=x+5and x < 4} ={(1,6), (2,7), (3,8}

It is seen that (1, 1) ¢ R.

~R is not reflexive.

(1, 6) eR

But,
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(1,6)€R.
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(ii)A=14{1,2,3,4,5,6%} :

R = {(x, y): y is divisible by x} R .
ence, R is neither reflexive, nor

We know that any number (x) is divisible by itself. 9int;but it is transitive.

= (x, x) €ER f:::::::::::::::::::::

~R is reflexive.

Now,

(2, 4) €R [as 4 is divisible by 2]

But,

(4, 2) ¢ R. [as 2 is not divisible by 4]

~R is not symmetric.

Let (x, y), (v, 2) € R. Then, y is divisible by x and z is divisible by y.
~z is divisible by x.

= (x, 2) ER

~R is transitive.

Hence, R is reflexive and transitive but not symmetric.
(iv) R = {(x, y): x — y is an integer}

Now, for every x € Z, (x, x) €ER as x — x = 0 is an integer.
~R is reflexive.

Now, for every x, y € Z if (x, y) € R, then x — y is an integer.
= —(x — y) is also an integer.

= (y — x) is an integer.

~(y,x) R

~R is symmetric.

Now,

Let (x, y) and (y, z) eR, where x, y, z € Z.

= (x — y) and (y — z) are integers.

>x—-—z=(x—-y)+ (y —2)is an integer.
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~(x,z) eER

~R is transitive.

Hence, R is reflexive, symmetric, and transitive.

(v) (@) R = {(x, y): x and y work at the same place}
= (x, X) €R

~ R is reflexive.

If (x, y) € R, then x and y work at the same place.
= y and x work at the same place.

= (y, X) €R.

~R is symmetric.

Now, let (x, y), (v, 2) € R

= x and y work at the same place and y and z work at the same place.
= x and z work at the same place.

= (x, 2) ER

~ R is transitive.

Hence, R is reflexive, symmetric, and transitive.

(b) R = {(x, y¥): x and y live in the same locality}
Clearly (x, x) € R as x and x is the same human being.
~ R is reflexive.

If (x, y) €R, then x and y live in the same locality.

= y and x live in the same locality.

= (y,x) eER

~R is symmetric.

Now, let (x, y) € R and (y, z) € R.

= x and y live in the same locality and y and z live in the same locality.
= x and z live in the same locality.

= (x,2z) R

~ R is transitive.

Hence, R is reflexive, symmetric, and transitive.

(c) R ={(x, y): xis exactly 7 cm taller than y}
Now,

(x, x) ¢ R

Since human being x cannot be taller than himself.



caae

Class XII Chapter 1 - Relations and Functions

Maths

~R is not reflexive.

Now, let (x, y) €eR.

= x is exactly 7 cm taller than y.
Then, y is not taller than x.

~ (y, x) ¢R

Indeed if x is exactly 7 cm taller than y, then y is exactly 7 cm shorter than x.

~R is not symmetric.

Now,

Let (x, y), (v, 2) € R.

= x is exactly 7 cm taller than y and y is exactly 7 cm taller than z.
= x is exactly 14 cm taller than z .

~(x, z) ¢R

~ R is not transitive.

Hence, R is neither reflexive, nor symmetric, nor transitive.
(d) R =A{(x, y): x is the wife of y}

Now,

(x, x) €R

Since x cannot be the wife of herself.

~R is not reflexive.

Now, let (x, ¥) € R

= x is the wife of y.

Clearly y is not the wife of x.

~(y,x) ¢ R

Indeed if x is the wife of y, then y is the husband of x.

~ R is not transitive.

Let (x, ¥), (v, 2) eR

= x is the wife of y and y is the wife of z.

This case is not possible. Also, this does not imply that x is the wife of z.

“(x,z) &R

~R is not transitive.

Hence, R is neither reflexive, nor symmetric, nor transitive.
(e) R = {(x, y): x is the father of y}

(x, x) ¢ R
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As x cannot be the father of himself.

~R is not reflexive.

Now, let (x, y) €eR.

= x is the father of y.

= y cannot be the father of y.

Indeed, y is the son or the daughter of y.
~(y,x) ¢ R

~ R is not symmetric.

Now, let (x, ¥) €e R and (y, z) € R.

= x is the father of y and y is the father of z.
= X is not the father of z.

Indeed x is the grandfather of z.
~(x,2)¢R

~R is not transitive.

Hence, R is neither reflexive, nor symmetric, nor transitive.

Show that the relation R in the set R of real numbers, defined as

R = {(a, b): a < b?} is neither reflexive nor symmetric nor transitive.
Answer

R ={(a, b): a < b?}

~Ris not reflexive.

Now, (1,4)eRas 1 < 42

But, 4 is not less than 12,

+(4,1) &R

~R is not symmetric.

Now,

(3,2),(2,1.5) €eR

(as3 <2?=4and 2 < (1.5)2 = 2.25)
But, 3 > (1.5)2 = 2.25
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+(3,1.5)¢R
«~ Ris not transitive.

Hence, R is neither reflexive, nor symmetric, nor transitive.

Check whether the relation R defined in the set {1, 2, 3, 4, 5, 6} as
R = {(a, b): b =a + 1} is reflexive, symmetric or transitive.
Answer

LetA ={1,2,3,4,5,6}.

A relation R is defined on set A as:

R={(a,b):b=a+ 1}

«R=4{(1, 2), (2, 3),(3,4), (4,5), (5 6)}

We can find (a, @) ¢ R, where a € A.

For instance,

(1,1),(2,2),(3,3),(4,4),(5,5),(6,6) ¢R

~Ris not reflexive.

It can be observed that (1, 2) e R, but (2, 1) ¢ R.

~R is not symmetric.

Now, (1, 2), (2,3) €eR

But,

(1,3)¢R

~R is not transitive

Hence, R is neither reflexive, nor symmetric, nor transitive.

Show that the relation R in R defined as R = {(a, b): a < b}, is reflexive and transitive
but not symmetric.

Answer

R = {(a, b); a < b}

Clearly (@, a) e Rasa = a.

~R is reflexive.

Now,

(2,4)eR(as 2 < 4)
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But, (4, 2) ¢ R as 4 is greater than 2.
~ Ris not symmetric.

Now, let (a, b), (b, c) € R.

Then,

a<bandb<=c

>a=sc

=>(a, c) eR

~R is transitive.

Hence,R is reflexive and transitive but not symmetric.

Check whether the relation R in R defined as R = {(a, b): a < b3} is reflexive, symmetric
or transitive.

Answer

R = {(a, b): a < b3}

_ (1 1 1 (1Y 1
It is observed that | —, — ERas—b|—| =—,
2 2 2

~ R is not reflexive.

Now,
(1,2)eR(as1<23=18)
But,

(2,1)¢R (as 23> 1)

~ Ris not symmetric.

(= Y 3 6 Il [{1
We h 3, =, ;.—ERES3{[; and = < —1,
e have| *J [2' ] () ]

(6
But(ﬁ, E]ERasS}:E|,
5 '\5;

«~ Ris not transitive.

Hence, R is neither reflexive, nor symmetric, nor transitive.
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Show that the relation R in the set {1, 2, 3} given by R = {(1, 2), (2, 1)} is symmetric
but neither reflexive nor transitive.

Answer

Let A = {1, 2, 3}.

A relation R on A is defined as R = {(1, 2), (2, 1)}.

It is seen that (1, 1), (2, 2), (3, 3) ¢R.

~ R is not reflexive.

Now, as (1, 2) e R and (2, 1) € R, then R is symmetric.
Now, (1, 2) and (2, 1) e R

However,

(1,1) ¢R

~ R is not transitive.

Hence, R is symmetric but neither reflexive nor transitive.

Show that the relation R in the set A of all the books in a library of a college, given by R
= {(x, y): x and y have same number of pages} is an equivalence relation.

Answer

Set A is the set of all books in the library of a college.

R = {x, y): x and y have the same number of pages}

Now, R is reflexive since (x, x) €R as x and x has the same number of pages.

Let (x, y) € R = x and y have the same number of pages.

= y and x have the same number of pages.

= (y, x) €R

~R is symmetric.

Now, let (x, y) €R and (y, z) € R.

= x and y and have the same number of pages and y and z have the same number of
pages.

= x and z have the same number of pages.

= (x,2) R

~R is transitive.

Hence, R is an equivalence relation.

Page 8 of 68

www.crayonskills.com
For more NCERT solutions and online classes enroll in mathematics course




Class XII Chapter 1 - Relations and Functions Maths

Show that the relation R in the set A = {1, 2, 3, 4, 5} given by

R = {[a b):|la—b is even}, is an equivalence relation. Show that all the elements of {1,
3, 5} are related to each other and all the elements of {2, 4} are related to each other.
But no element of {1, 3, 5} is related to any element of 2, 4}.

Answer
A={1,2 34,5}

R ={(a, b):|a—b] is even}

It is clear that for any element a €A, we have @—a| =0 (which is even).
~R is reflexive.

Let (a, b) € R.

= Ir.:r ."J|1'5 even,

= |-(a—b)|=|b-d]is also even.

= (b, a)eR

~R is symmetric.

Now, let (a, b) e R and (b, ¢) € R.

is even.

= |a—b| isevenand b—c
= (a—b) isevenand (b—c) is even.

= (a-c)=(a-b)+(b-c) iseven. [Sum of two even integers is even]|

= |a—c| is even.

= (a, c)eR

~R is transitive.

Hence, R is an equivalence relation.

Now, all elements of the set {1, 2, 3} are related to each other as all the elements of
this subset are odd. Thus, the modulus of the difference between any two elements will
be even.

Similarly, all elements of the set {2, 4} are related to each other as all the elements of

this subset are even.
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Also, no element of the subset {1, 3, 5} can be related to any element of {2, 4} as all
elements of {1, 3, 5} are odd and all elements of {2, 4} are even. Thus, the modulus of
the difference between the two elements (from each of these two subsets) will not be

even.

Show that each of the relation R in the set A ={xeZ:0<x <12}, given by

(i) R= {l{u, b):|a—b|is a multiple 01‘4}

(i) R = {{u, b):a :h}

is an equivalence relation. Find the set of all elements related to 1 in each case.

Answer

A={xeZ:0<x<12}={0, 1,2,3,4,5,6,7.8.9,10, 11, 12}

(i) R= {(u, b):|a—b|is a multiple uf-'l}

For any element a €A, we have (g, @) € R as la—a| =} is a multiple of 4.

~R is reflexive.

Now, let (a, b) € R = |a—b|is a multiple of 4.

= |-(a—b)|=|b—d| is a multiple of 4.

= (b,a) eR

~R is symmetric.

Now, let (a, b), (b, c) € R.

= la— .'5| is a multiple of 4 and |b - r;| is a multiple of 4.
= (a—b) is amultiple of 4 and (b—c) is a multiple of 4.
= (a-c)=(a-b)+(b-c) is a multiple of 4.

= la—c| 15 a multiple of 4.

= (a, ¢) eER

~ R is transitive.

Hence, R is an equivalence relation.

The set of elements related to 1 is {1, 5, 9} since



Class XII Chapter 1 - Relations and Functions Maths

1- ]|: () 1s a multiple of 4,
5—-1|=4 is a multiple of 4,and
0 — l| =8 i1s a multiple of 4.
(i) R = {(a, b): a = b}
For any element a €A, we have (a, a) € R, since a = a.

~R is reflexive.
Now, let (a, b) € R.

>a=>b
>b=a2a
= (b,a) eR

~R is symmetric.

Now, let (a, b) e R and (b, ¢) € R.

>a=bandb=c

>a=¢c¢

= (a, c)eR

~ R is transitive.

Hence, R is an equivalence relation.

The elements in R that are related to 1 will be those elements from set A which are equal
to 1.

Hence, the set of elements related to 1 is {1}.

Given an example of a relation. Which is

(i) Symmetric but neither reflexive nor transitive.

(ii) Transitive but neither reflexive nor symmetric.
(iii) Reflexive and symmetric but not transitive.

(iv) Reflexive and transitive but not symmetric.

(v) Symmetric and transitive but not reflexive.
Answer

(i) Let A = {5, 6, 7}.

Define a relation R on A as R = {(5, 6), (6, 5)}.
Relation R is not reflexive as (5, 5), (6, 6), (7, 7) ¢ R.
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Now, as (5, 6) € R and also (6, 5) € R, R is symmetric.

= (5, 6), (6, 5) € R, but (5,5) ¢ R

~R is not transitive.

Hence, relation R is symmetric but not reflexive or transitive.
(ii)Consider a relation R in R defined as:

R = {(a, b): a < b}

For any a € R, we have (a, a) ¢ R since a cannot be strictly less than a itself. In fact, a =
a.

~ R is not reflexive.

Now,

(1,2)eR(as1<2)

But, 2 is not less than 1.

~(2,1)¢R

~ Ris not symmetric.

Now, let (a, b), (b, c) € R.

>a<bandb<c

>a<c

= (a, c)eR

~R is transitive.

Hence, relation R is transitive but not reflexive and symmetric.
(iii)Let A = {4, 6, 8.

Define a relation R on A as:

A ={(4,4), (6, 6), (8, 8), (4, 6),(6,4),(6,8),(8,6)}

Relation R is reflexive since for every a € A, (a, a) eR i.e., (4, 4), (6, 6), (8, 8)} € R.
Relation R is symmetric since (a, b) e R > (b, a) e Rforalla, b e R.
Relation R is not transitive since (4, 6), (6, 8) € R, but (4, 8) ¢ R.
Hence, relation R is reflexive and symmetric but not transitive.
(iv) Define a relation R in R as:

R ={a, b): a3 = b3}

Clearly (a, a) € R as a3 = a3.

~R is reflexive.

Now,

(2, 1) e R (as 23 = 13)
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But,

(1,2) ¢ R (as 13 < 23)

~ Ris not symmetric.

Now,

Let (a, b), (b, c) € R.

=>a’=b3and b3 = 3

=>axc3

= (a, c)eR

~R is transitive.

Hence, relation R is reflexive and transitive but not symmetric.
(v) Let A = {-5, —63}.

Define a relation R on A as:

R = {(-5, -6), (=6, =5), (=5, =5)}

Relation R is not reflexive as (-6, —6) ¢ R.

Relation R is symmetric as (-5, —6) €eR and (-6, —5}€R.
It is seen that (-5, —6), (-6, —5) € R. Also, (-5, —=5) € R.
~The relation R is transitive.

Hence, relation R is symmetric and transitive but not reflexive.

Show that the relation R in the set A of points in a plane given by R = {(P, Q): distance
of the point P from the origin is same as the distance of the point Q from the origin}, is
an equivalence relation. Further, show that the set of all point related to a point P #
(0,0) is the circle passing through P with origin as centre.

Answer

R = {(P, Q): distance of point P from the origin is the same as the distance of point Q
from the origin}

Clearly, (P, P) € R since the distance of point P from the origin is always the same as the
distance of the same point P from the origin.

~R is reflexive.

Now,

Let (P, Q) € R.
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= The distance of point P from the origin is the same as the distance of point Q from the
origin.

= The distance of point Q from the origin is the same as the distance of point P from the
origin.

=>(Q,P)eR

~R is symmetric.

Now,

Let (P, Q), (Q, S) € R.

= The distance of points P and Q from the origin is the same and also, the distance of
points Q and S from the origin is the same.

= The distance of points P and S from the origin is the same.

= (P,S)eR

~R is transitive.

Therefore, R is an equivalence relation.

The set of all points related to P # (0, 0) will be those points whose distance from the
origin is the same as the distance of point P from the origin.

In other words, if O (0, 0) is the origin and OP = k, then the set of all points related to P
is at a distance of k from the origin.

Hence, this set of points forms a circle with the centre as the origin and this circle passes

through point P.

Show that the relation R defined in the set A of all triangles as R = {(T1, T2): T1 is similar
to T2}, is equivalence relation. Consider three right angle triangles T: with sides 3, 4, 5,
T2 with sides 5, 12, 13 and T3 with sides 6, 8, 10. Which triangles among Ti1, T2 and T3
are related?

Answer

R = {(T1, T2): T1 is similar to T2}

R is reflexive since every triangle is similar to itself.

Further, if (T1, T2) € R, then T: is similar to T.

= T2 is similar to Ti.

= (T2, T1) eER

~R is symmetric.
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Now,

Let (T1, T2), (T2, T3) € R.

= Ti1is similar to T2 and T2 is similar to Ts.
= Ti is similar to Ts.

= (T1, T3) €R

~ R is transitive.

Thus, R is an equivalence relation.

Now, we can observe that:

3.4..5’..1]
6 8 10\ 2

A

~The corresponding sides of triangles T1 and T3 are in the same ratio.
Then, triangle T is similar to triangle Ts.

Hence, Ti is related to Ts.

Show that the relation R defined in the set A of all polygons as R = {(P1, P2): P1 and P2
have same number of sides}, is an equivalence relation. What is the set of all elements
in A related to the right angle triangle T with sides 3, 4 and 5?

Answer

R = {(P1, P2): P1 and P> have same the number of sides}

R is reflexive since (Pi, P1) € R as the same polygon has the same number of sides with
itself.

Let (P1, P2) € R.

= P1 and P> have the same number of sides.

= P> and P: have the same number of sides.

= (P2, P1) €R

~R is symmetric.

Now,

Let (P1, P2), (P2, P3) € R.

= P1 and P2 have the same number of sides. Also, P> and Ps have the same number of
sides.

= P1 and Ps have the same number of sides.

= (P, P3) €R
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~R is transitive.

Hence, R is an equivalence relation.

The elements in A related to the right-angled triangle (T) with sides 3, 4, and 5 are
those polygons which have 3 sides (since T is a polygon with 3 sides).

Hence, the set of all elements in A related to triangle T is the set of all triangles.

Let L be the set of all lines in XY plane and R be the relation in L defined as R = {(L1,
L2): L: is parallel to L2}. Show that R is an equivalence relation. Find the set of all lines
related to the line y = 2x + 4.

Answer

R = {(L1, L2): L1 is parallel to L2}

R is reflexive as any line L: is parallel to itself i.e., (L1, L1) €R.

Now,

Let (L1, L2) € R.

= L1 is parallel to La.

= L2 is parallel to L.

= (L2, L1) eR

~ R is symmetric.

Now,

Let (L1, L2), (L2, L3) €R.

= L, is parallel to L>. Also, L is parallel to Ls.

= Li is parallel to Ls.

~R is transitive.

Hence, R is an equivalence relation.

The set of all lines related to the line y = 2x + 4 is the set of all lines that are parallel to
the liney = 2x + 4.

Slope of liney =2x+4ism =2

It is known that parallel lines have the same slopes.

The line parallel to the given line is of the form y = 2x + ¢, where c €R.

Hence, the set of all lines related to the given line is given by y = 2x + ¢, where c € R.
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Let R be the relation in the set {1, 2, 3, 4} given by R = {(1, 2), (2, 2), (1, 1), (4, 4),
(1, 3), (3, 3), (3, 2)}. Choose the correct answer.

(A) R is reflexive and symmetric but not transitive.

(B) R is reflexive and transitive but not symmetric.

(C) R is symmetric and transitive but not reflexive.

(D) R is an equivalence relation.

Answer

R={(1,2),(2 2),(1,1),(4 4),(1,3),(,3), (3, 2)}

It is seen that (a, a) € R, for every a {1, 2, 3, 4}.

~ R is reflexive.

It is seen that (1, 2) e R, but (2, 1) ¢ R.

~R is not symmetric.

Also, it is observed that (a, b), (b,c) e R> (a,c)eRforalla, b,ce {1, 2, 3, 4}.
~ R is transitive.

Hence, R is reflexive and transitive but not symmetric.

The correct answer is B.

Let R be the relation in the set N given by R = {(a, b): a = b — 2, b > 6}. Choose the
correct answer.

(A)(2,4)eR(B)(3,8)€eR (C)(6,8)eR (D) (8,7)eR
Answer

R={(a,b)ia=b-2,b>6}

Now, since b > 6, (2,4) ¢ R
Also,as3+#8-2,(3,8)¢R

And,as8 +#7 -2

S (8,7)¢R

Now, consider (6, 8).

We have 8 > 6 and also, 6 = 8 — 2.

~(6,8) €R

The correct answer is C.
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; |
Show that the function f: R+ — R« defined by f [1] =—is one-one and onto, where Rx is
A
the set of all non-zero real humbers. Is the result true, if the domain R+ is replaced by N
with co-domain being same as Rx?

Answer

. 1
It is given that f: R — R~ is defined by f(x)=—.

X
One-one:

f(x)=r(»)
1 1
—ty — —
X v
—> X=3
~fis one-one.
Onto:

] :
It is clear that for ye R+, there exists x =— € R, (Exists as y # () such that
1:
| :

;‘[1’}2 (1) S
)

~fis onto.

Thus, the given function (f) is one-one and onto.

Now, consider function g: N — Rxdefined by

g(x)=—.
X
We have,
| l
g{x,]=g{r:}:}—:—:§xl =X,

~g is one-one.
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Further, it is clear that g is not onto as for 1.2 €R+ there does not exit any x in N such
1

that g(x) = 12

Hence, function g is one-one but not onto.

Check the injectivity and surjectivity of the following functions:
(i) f N — N given by f(x) = x?

(ii) f: Z — Z given by f(x) = x?

(iii) f: R —» R given by f(x) = x?

(iv) f: N - N given by f(x) = x3

(v) f: Z —» Z given by f(x) = x3

Answer

(i) f: N — N is given by,

f(x) = x2

Itisseenthatforx, yeN, f(x) = f(y) > x> =y?=>x=y.

~fis injective.

Now, 2 € N. But, there does not exist any x in N such that f(x) = x2 = 2.
~ fis not surjective.

Hence, function fis injective but not surjective.

(ii) f: Z — Z is given by,

f(x) = x2

It isseen that f(—1) = f(1) = 1, but -1 # 1.

~ fis not injective.

Now,—2 € Z. But, there does not exist any element x €Z such that f(x) = x? = -2.
-~ fis not surjective.

Hence, function fis neither injective nor surjective.

(iii) f: R — R is given by,

f(x) = x?

Itis seen that (1) =f(1) =1, but -1 # 1.

~ fis not injective.

Now,—2 € R. But, there does not exist any element x € R such that f(x) = x?> = -2.
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~ fis not surjective.

Hence, function fis neither injective nor surjective.

(iv) f: N — N given by,

fx) = x3

Itisseenthatforx, yeN, f(x) = f(y)=>x3=y3=>x=y.

~fis injective.

Now, 2 € N. But, there does not exist any element x in domain N such that f(x) = x3 =
2.

~ fis not surjective

Hence, function fis injective but not surjective.

(v) f: Z — Z is given by,

fx) = x3

Itisseenthatforx,yeZ f(x) =Ay)=>x3=y3=>x=y.

~ fis injective.

Now, 2 € Z. But, there does not exist any element x in domain Z such that f(x) = x3 = 2.
-~ fis not surjective.

Hence, function fis injective but not surjective.

Prove that the Greatest Integer Function f: R — R given by f(x) = [x], is neither one-
once nor onto, where [x] denotes the greatest integer less than or equal to x.
Answer

f: R — Ris given by,

f(x) = [x]

It is seen that f(1.2) =[1.2] =1, f(1.9) =[1.9] = 1.

~ f(1.2) = f(1.9), but 1.2 # 1.9.

~ fis not one-one.

Now, consider 0.7 € R.

It is known that f(x) = [x] is always an integer. Thus, there does not exist any element x
€ R such that f(x) = 0.7.

~ fis not onto.

Hence, the greatest integer function is neither one-one nor onto.
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Show that the Modulus Function f: R — R given by _;"(.r] :|.T

, is neither one-one nor

onto, where |1| is x, if x is positive or 0 and |1| is — x, if x is negative.

Answer
f: R — Ris given by,
[x, ifx=0

f{x) =|.1'i= .

|-x, ifx<0
It is seen that f(-1)=|-1/=1 f(1)=[1|=1.
“f(=1) = f(1), but =1 # 1.

~ fis not one-one.

Now, consider —1 € R.

It is known that f(x) = |1| is always non-negative. Thus, there does not exist any

element x in domain R such that f(x) = |1| = -1.

~ fis not onto.

Hence, the modulus function is neither one-one nor onto.

Show that the Signum Function f: R — R, given by

Jl, ifx=0
F(x)=40, ifx=0
l—wa{u

is neither one-one nor onto.
Answer

f: R —» Ris given by,

Jl, ifv=>0
F(x)=40, ifx=0
l—wa{u

It is seen that f(1) = f(2) =1, but 1 *# 2.

~fis not one-one.
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Now, as f(x) takes only 3 values (1, 0, or —1) for the element —2 in co-domain R, there
does not exist any x in domain R such that f(x) = -2.
=~ fis not onto.

Hence, the signum function is neither one-one nor onto.

LetA=14{1,2,3}, B=A4,5,6,7}yandlet f= {(1, 4), (2,5), (3, 6)} be a function from
A to B. Show that fis one-one.

Answer

It is given that A = {1, 2, 3}, B ={4, 5, 6, 73}.

f: A— Bis defined as f = {(1, 4), (2, 5), (3, 6)}.

~f(1)=4,f(2)=5,f3)=6

It is seen that the images of distinct elements of A under f are distinct.

Hence, function fis one-one.

In each of the following cases, state whether the function is one-one, onto or bijective.
Justify your answer.

(i) f: R — R defined by f(x) = 3 — 4x

(ii) f: R — R defined by f(ix) = 1 + x?

Answer

(i) f: R —> R is defined as f(x) = 3 — 4x.
Let x,, x, € Rsuch that f(x,) = f(x,)

= 3—4x =3-4x,

= =4x, = —4x,

=X =X,

~ fis one-one.

For any real number (y) in R, there exists % in R such that

i _ _.\ 5 B i
3=) | 3-4{3_J |=y.
'\ 4 I 4 _|'I. :

~fis onto.

J
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Hence, fis bijective.
(ii) f: R - R is defined as

f(x)=1+x°
Let x,, x, € Rsuch thatf (x,) = f(x,)

l'-| ]
= 1+x =1+x
et

— X, =LX,

» f{x)=f(x.)does not imply that x, = x..
For instance,

f)=r(-1=2

~ fis not one-one.

Consider an element —2 in co-domain R.

It is seen that f(x)=1+x"is positive for all x € R.
Thus, there does not exist any x in domain R such that f(x) = -2.

« fis not onto.
Hence, fis neither one-one nor onto.

Let A and B be sets. Show that f: A x B — B x A such that (a, b) = (b, a) is bijective

function.
Answer
fi AXx B— B x Ais defined as f(a, b) = (b, a).

Let (a,, ). (@, b,)e AxBsuchthatf(a, b)=f(a, b)

= (b, a }=(by; a,)
= b =b, and g, = a,
= (a, b )=(a,, b,)
~ fis one-one.

Now, let (b, @) € B x A be any element.
Then, there exists (a, b) €A x B such that f(a, b) = (b, a). [By definition of f]
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~ fis onto.

Hence, fis bijective.

o
ﬂ. if mis odd

Let f: N — N be defined by f(n)= 2 for all m e N.
E, if n is even
&

State whether the function f is bijective. Justify your answer.

Answer

| T
%. it i is odd
fln)= for all ne N.
if 1 is even

It can be observed that:
£(1) =% —landf(2)=
- f(1)= f(2), where 1#2.

=1 [By definition UI'__I"]

[ ]

~ fis not one-one.

Consider a natural number (n) in co-domain N.

Case I: n is odd

~n = 2r + 1 for some r € N. Then, there exists 4r + 1eN such that
: 4r+1+1

Jf{-l'j 1 ]]:TZZJ‘ i1

Case II: n is even

. ; 4r
~n = 2r for some r € N. Then,there exists 4r €N such that { [4r} = ?= 2r.
~ fis onto.

Hence, fis not a bijective function.

Let A=R - {3} and B = R — {1}. Consider the function f: A — B defined by
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x-2

_f{,n:}=( ] . Is f one-one and onto? Justify your answer.
L S

Answer

A=R-{3},B=R-{1}

-2
f: A — B is defined as f{-T)ZL j‘—}'J
Letx, y € Asuch thatf(x) = f(y)

-2

x—2 y-—
- Xx=2 X jf‘—:‘:
= (x-2)(y-3)=(ry-2)(x-3)

= xy—3x-2y+6=xy-3y-2x+6

= -3x-2y=-3y-2x

= 3x—-2x=3yp-2y

= X=F

~ fis one-one.

LetyeB=R - {1}. Then, y # 1.

The function fis onto if there exists x €A such that f(x) = y.

Now,

.f'{x}—-}‘
x=2
K x—3 .

=x-2=xy-3y

= x(l-y)=-3y+2

=3y

—r= A [J?il]

-y

2-3y
-y

£ A such that

Thus, for any y € B, there exists
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-2—3_1:“|_,,
{2-3p) \1-y ] 2-3p-242y —
_;‘ - | (2.3 P 2-3y-3+3y -1
L =¥
2 f 1s onto.

Hence, function f is one-one and onto.

Let f: R — R be defined as f(x) = x*. Choose the correct answer.
(A) fis one-one onto (B) fis many-one onto
(C) fis one-one but not onto (D) fis neither one-one nor onto

Answer

f: R — R is defined as ./ (x) = x".
Let x, y € R such that f(x) = f(y).
—=x' =y’
— X ==Ly

f(x, )= f(x,)does not imply that x =x,.
For instance,

f(1)=r(-1)=1

~ fis not one-one.

Consider an element 2 in co-domain R. It is clear that there does not exist any x in
domain R such that f(x) = 2.

~ fis not onto.

Hence, function f is neither one-one nor onto.

The correct answer is D.

Let f: R — R be defined as f(x) = 3x. Choose the correct answer.
(A) fis one-one onto (B) fis many-one onto
(C) fis one-one but not onto (D) fis neither one-one nor onto

Answer
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f: R — R is defined as f(x) = 3x.
Let x, y € R such that f(x) = f(y).
= 3x = 3y

S>SX=Yy

~fis one-one.

”
Also, for any real number (y) in co-domain R, there exists ; in R such that

y i TR
f[i | = 3| l = .,.:

3) \3) .
~fis onto.

Hence, function fis one-one and onto.

The correct answer is A.
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Exercise 1.3

Question 1:

Letf: {1, 3,4y - {1,2,5yand g: {1, 2,5} - {1, 3} begiven by f = {(1, 2), (3, 5),
(4, D} and g = {(1, 3), (2, 3), (5, 1)}. Write down gof.

Answer

The functions f: {1, 3, 4} — {1, 2, 5} and g: {1, 2, 5} — {1, 3} are defined as
f=A(1,2),(,5), (4 1)}and g = {(1, 3), (2, 3), (5, 1)}

gof (1)=g(r(1)=g(2)= L (1)=2and g(2) :3]

2o (3)=g(s(3))=2(5)= [/(3)=5andg(5)=1]

gof (4)=g(/(4))=g(1)= [/(4)=1andg(1)=3]
8o ={(13).(3.1) {'-3)}

Question 2:

Let f, g and h be functions from R to R. Show that

{_f +g]nh = foh+ goh
(f-g)oh=( foh)-(goh)

Answer

To prove:

{j'-l—g]ﬂh = foh+ goh
Consider:

((f +g)oh)(x)
=(f+g)(h(x))

= f(h(x))+2(h(x))

—(fuh (v)+ gﬂh \:)

={( foh)+(goh)}(x)

S ((f +g)oh)(x) = {(foh)+(goh)}(x) YxeR
Hence, ( f + g)oh= foh+ goh.
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To prove:
(f-g)oh=(foh)-(goh)
Consider:
((/-g)oh)(x)
f g}{h x))

(x))-g(4(x))
(fhh)( (goh)(x)
={( foh).(goh)}(x)
(1 2)oh)(x) = {(foh).(goh)} (x) ¥x e R

Hence, (/- g)oh = foh)-(goh).

Question 3:

Find gof and fog, if
(i) f(x)=|x| and g(x)=|5x-2]

(i) _.r‘{x} =8x" and g[,r} = x3
Answer

(i) f(x)=|x| and g(x)=|5x-2]

“(2of)(x) = 2( £ (x)) = 2(|]«]) =[5} -2]
(fog)(x)= £ (g(x))= £ (|5x-2]) =|5x-2] =[sx -2

(i) j{x} =8x" and _g[x} = :r;
(20) (%)= 8/ (¥) = 8(8°) = (85" =2

1

{.fﬂg){x}=f(£{X])=f[f‘]=8[x;T:Rx

Question 4:
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; (4x+3) 2 2
If f(x)= #—,show that fo f(x) = x, forall x+ = What is the inverse of f?

(6x—4)’ G
Answer
(4x+3) 2

e L=
v =4l 3

(for)(x)=r(r(x))= .f'[ dx+ ]

fx—4

It is given that f'(x)

(4x+3)
4 +3
kﬁ.r—le _l6x+12+18x-12 3dx

=6(4x+3‘ 4_Edr+lﬂ 24x+16 34
\ b ‘ij

.
Therefore, fof (x)=x. forall x = i

= fof =1

Hence, the given function fis invertible and the inverse of fis f itself.

State with reason whether following functions have inverse
(i) f: {1, 2, 3,4} — {10} with

f=4{(1, 10), (2, 10), (3, 10), (4, 10)}

(ii) g: {5, 6, 7,8 - {1, 2, 3, 4} with

g =A(5,4),(6,3),(7,4), (8, 2)}

(iii) h: {2, 3, 4,5} — {7, 9, 11, 13} with
h=4{(2,7),(3,9), (4, 11), (5, 13)}

Answer

() f: {1, 2, 3, 4} — {10}defined as:

f={(1, 10), (2, 10), (3, 10), (4, 10)}

From the given definition of f, we can see that f is a many one function as: f(1) = f(2) =
f(3) = f(4) = 10

~fis not one-one.

Hence, function f does not have an inverse.

(ii) g: {5, 6, 7,8y - {1, 2, 3, 4} defined as:
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g =1{(54),(6,3),(7,4), (8, 2)}

From the given definition of g, it is seen that g is a many one function as: g(5) = g(7) =
4.

~g is not one-one,

Hence, function g does not have an inverse.

(iii) h: {2, 3,4, 5} - {7, 9, 11, 13} defined as:

h=4(2,7),(3,9), (4, 11), (5, 13)}

It is seen that all distinct elements of the set {2, 3, 4, 5} have distinct images under h.
~Function h is one-one.

Also, h is onto since for every element y of the set {7, 9, 11, 13}, there exists an
element x in the set {2, 3, 4, 5}such that h(x) = y.

Thus, h is a one-one and onto function. Hence, h has an inverse.

i X
Show that f: [-1, 1] — R, given by / l-‘f}=m is one-one. Find the inverse of the

function f: [-1, 1] — Range f.

. x =
(Hint: For y eRange f, y = f [A] S forsome xin[—1, 1], i.e., .
Answer

(1-y)

X

[I'I‘E]I

f: [-1, 1] - Ris given as f{-“}=
Let f(x) = f(y).

I

= =
x+2 y+2

= xy+2x=xy+2y

= 2x=2y

= Xx=¥

~ fis a one-one function.

Itis clear that f: [-1, 1] — Range fis onto.

~ f: [-1, 1] — Range fis one-one and onto and therefore, the inverse of the function:



case

CRAYONS ACADEMY
FOR SKILLS EXCELLENCE

Class XII Chapter 1 - Relations and Functions

Maths

f: [-1, 1] — Range f exists.
Let g: Range f — [—1, 1] be the inverse of f.
Let y be an arbitrary element of range f.

Since f: [-1, 1] — Range fis onto, we have:

y=f(x) for same x [-1, 1]

iy s
x+2

=S xy+2y=x
:}x{l—y]:Zy
T
— =2 , y#1
-y
Now, let us define g: Range f — [—1, 1] as

2y

= e
x+2
2y
N a zlvwz l-y 2y 2y
(#£)(»)=/(2(») 'f[l—y} 2y ,, 2y+2-2y 2

.’.g0f= I[_|_ '|'| and fog = IH:lugL‘_."
i f_l = g

oy
= F{y)= i.y =1
-y

n.] /

Consider f: R — R given by f(x) = 4x + 3. Show that fis invertible. Find the inverse of f.

Answer
f: R —» Ris given by,
f(x) =4x + 3

One-one:
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Let f(x) = f(y).

= 4x+3=4y+3

= dx=4y

= XxX=y

~ fis a one-one function.
Onto:

Fory e R, lety = 4x + 3.

_>x:'1ll_-3el{

¥
Therefore, for any y € R, there exists x =+ € R such that

: [ y=3) (=3 a
.f{-fj_,fk 1 J_4[ 2 rI|+f‘r V.

~ fis onto.

.

Thus, fis one-one and onto and therefore, ! exists.

Let us define g: Ro RbY oy (v deeupra T TTTTTTTTT -
Wb s o s
; i X - ]
NUW.,(gL?f](_x):g{f(x}): g{:I_]_'-_-j): 4 =x __i_
,]'J ‘]', 3 - ..;\I gl(y) = (y'3)/4
{ﬁ‘g)[.""]=f(£{}']]=f( 2 ]=4[ 4')|-3=v-3|3=_1 !
. 8of = fog=1, e L E L L L

Hence, fis invertible and the inverse of fis given by
y=3

r0)=g(n =27

Consider f: R+ — [4, ©) given by f(x) = x? + 4. Show that f is invertible with the inverse

F1 of given Fby /' (¥)=+¥—4 , where R+ is the set of all non-negative real numbers.
Answer

f: R+ — [4, o) is given as f(x) = x? + 4.
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One-one:

Let f(x) = Ay).

= x'+4=)"+4

iy

= x=y [asx=yeR,]
~ fis a one-one function.
Onto:

Fory € [4, ), let y = x> + 4.
=x =y-420 [as y = 4]

:>J:=M"I.1»'—=il-‘_ﬁr[}

Therefore, for any y € R, there exists x=./y—4 & R such that

£(x)= £ (Vp=3)=(o=3) +4=y-dsa=y

~ fis onto.

Thus, fis one-one and onto and therefore, 1 exists.

Let us define g: [4, ) — R+ by,

g(v)=yy-4

Now. gof (x)=g(/(x))= g(:«'J +d): (f +-1)—4 =¥

And, fog ()= £ (2 ()= 7 (V7=3)=({7=8) +4=(r-4)+4=)

L gof = fog=1Ig,

Hence, fis invertible and the inverse of fis given by

()= ()= N7



case

GHlstElhe Class XII Chapter 1 - Relations and Functions Maths

Consider f: R+ — [—5, o) given by f(x) = 9x%2 + 6x — 5. Show that fis invertible with

(556)-

[(y)= 3

Answer

f: R+ —» [—5, ®) is given as f(x) = 9x? + 6x — 5.
Let y be an arbitrary element of [-5, o).

Let y = 9x2 + 6x — 5.

= y=(3x+1)" =1-5=(3x+1) -6

=(Bx+1) =y+6

=3x+1=yy+6 [asyz-5=y+6>0]

o Jy+6-1

-
2

— X
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~fis onto, thereby range f = [-5, o).

Let us define g: [-5, ) — R+ as g{}'] =

We now have:
(gof)(x)=g(f(x))=g(9x" +6x-5)
2 g([?m:ﬂ}: ~6)

B \/[3“1}3 66

3
Jr+1-1
: . (Jy+6-1
And(06)(0) - £ () - 7| L0
% /

-

|
",

¢ = ¥ 2
3 —”*‘:6 ]]+|} -6

»gof =lgand fog=1.,

Hence, fis invertible and the inverse of fis given by

f(v)=gl(») @

S

Let f: X — Y be an invertible function. Show that f has unique inverse.
(Hint: suppose g1 and g2 are two inverses of f. Then for all y €Y,
fogi(y) = Iv(y) = fogz2(y). Use one-one ness of f).

Answer

Let f: X — Y be an invertible function.

Also, suppose f has two inverses (say £ and g, ).

Then, for all y €Y, we have:
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fogi (¥)=1,(»)= fog.(»)

= f(8(»)=f(g(»)

= g {1} =g, {_}»} [_,i"' is invertible = f is Dneaﬂnel
=g =4 [g is UHE.‘—UHF::]

Hence, f has a unique inverse.

Consider f: {1, 2, 3} — {a, b, ¢} given by f(1) = a, f(2) = b and f(3) = c. Find f! and
show that (F1)~t =f.

Answer

Function f: {1, 2, 3} — {a, b, c} is given by,

f(1)=a,f(2)=b,and f(3) = ¢

If we defineg: {a, b, c} - {1, 2,3} asg(a) =1, glb) =2, g(c) = 3, then we have:

(fog)(a)=f(g(a))=r(1
(fog)(b)=r(g(b))=r(2)=b

a

—
I

And,
(gof)(1)=2(f(1))=g(a)=1

(gof)(2)=g(f(2))=g(b)=2
(2f)(3)=2(s(3))=2(c)

» gof =l,.and fog =1,  where X = {1, 2, 3} and Y= {a, b, c}.
Thus, the inverse of f exists and ! = g.

~f1:{a, b, c} - {1, 2, 3} is given by,
fla)=1,fYb)=2,f(c)=3

Let us now find the inverse of f! i.e., find the inverse of g.

If we define h: {1, 2, 3} —» {a, b, c} as

h(1) = a, h(2) = b, h(3) = ¢, then we have:

3
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. goh=1, and hog =1, where X = {1, 2, 3} and Y = {a, b, c}.
Thus, the inverse of g exists and g™ = h = (f!)~! = h.

It can be noted that h = £.
Hence, (FY) ! = f.

Let f: X — Y be an invertible function. Show that the inverse of f1isf, i.e.,

(F1)1=T.

Answer

Let f: X — Y be an invertible function.

Then, there exists a function g: Y — X such that gof = Ixand fog = Iv.

Here, f1 = g.
Now, gof = Ixand fog = Iy
= flof = Ixand fof = Iy

Hence, f1: Y — X is invertible and fis the inverse of f!

e, (FO)=Ff

If f R — R be given by f(x) =(3 - Iz')" , then fof(x) is

I
(A) 77 (B)X* (C) x (D) (3 =~ x7)

Answer
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. [
f R - Risgiven as f(x)=(3-x"),

1(¥)=(-¢)

---f-o.f-u):w=.,-[[g_fﬂ:L—[(a_.ﬂJf
-[3-6-2)P =() =
v Jof (x)=x

The correct answer is C.

Question 14:

Let /:R—4—21 5 R be a function defined as /(x)= g5
et Ji 13 e a function defined as . o
41 .

Range / — R—{—g}gwen by

3y 4:!

V)= = yi=

@ &0)=37 ) 2()=7"5;

4y 3y
c) g(»)= D) g(y)=-—"7
© g)=323; @ g(¥)=7=3
Answer
It is gi h f'R—{—i}—}Risdeﬁnedasf[x}— i
t is given that ./ : 3 i

Let y be an arbitrary element of Range f.

Then, there exists x € R—J—i} such that ¥ =/ (x).
4x =
3x+4
=y +4dy=4x
= x(4-3y)=4y

. 4y . SR _i =
ik Let us define g: Range [ — 3(3s g(y)=

= V=

4y

4-3y

. The inverse of fis map g:
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Now, (g0 /)(x)=g(/(x)) :g[ > ]

Ix+4
4[ 4x
. 3x+4) 16x _lﬁx_r
4_?[ 4::) 12x+16-12x 16
W 3x+4
: | 4v
hedi{Fon)l)= (g{y}}:f[ : ]
4-3y
4| &Y
__\4-3y) 16y 16y
H F —F-:.l .
3[_4-1_]+4 12y+16-12y 16
43y

. gof = Ill-{-::ll and fog = ]Rangu f

Thus, g is the inverse of fi.e., 1 = g.

4
Hence, the inverse of fis the map g: Range [ — R_{_E} , which is given by

yo AP
'I%%Lc)o_rréc—tfbjn'swer is B.
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Determine whether or not each of the definition of given below gives a binary operation.
In the event that * is not a binary operation, give justification for this.

(i) On Z*, define *bya*b=a - b

(ii) On Z*, define * by a * b = ab

(iii) On R, define * by a * b = ab?

(iv) On Z*, define * by a * b = |a — b|

(v) On Z*, define *bya *b =a

Answer

(i) On Z2*, * is defined by a * b = a — b.

It is not a binary operation as the image of (1, 2) under *is1*2 =1 -2
=-1¢2Z".

(ii) On Z*, * is defined by a * b = ab.

It is seen that for each a, b € Z*, there is a unique element ab in Z*.

This means that * carries each pair (a, b) to a unique elementa * b = ab in Z*.
Therefore, * is a binary operation.

(iii) On R, * is defined by a * b = ab?.

It is seen that for each a, b € R, there is a unique element ab? in R.

This means that * carries each pair (a, b) to a unique element a * b = ab?in R.
Therefore, * is a binary operation.

(iv) On Z*, * is defined by a * b = |a — b|.

It is seen that for each a, b € Z*, there is a unique element |a — b| in Z*.

This means that * carries each pair (a, b) to a unique elementa * b =

la — b]in Z*.

Therefore, * is a binary operation.

(v) On Z*, * is defined by a * b = a.

* carries each pair (a, b) to a unique elementa * b = ain Z*.

Therefore, * is a binary operation.
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For each binary operation * defined below, determine whether * is commutative or
associative.

(i) On Z, definea*b=a—->b

(i) On Q, definea*b =ab + 1

ab
(iii) On Q, definea * b =?

(iv) On Z*, definea * b = 2ab
(v) On Z*, definea * b = a°

ol

(vi) On R — {—1}, define a*h=
Answer

(i) On Z, * is defined bya * b =a — b.

It can be observed that1 *2 =1-2=1and2*1=2-1=1.
21*2+2*%1;wherel,2€2

+1

Hence, the operation * is not commutative.

Also we have:
1*2)*3=(1-2)*3=-1*3=-1-3=-4
1*2*3)=1*R2-3)=1*-1=1-(-1)=2
2(1*2)*3#1*(2*3);wherel,2,3€2
Hence, the operation * is not associative.

(i) On Q, * is defined by a * b = ab + 1.

It is known that:

ab=balla beqQ

>ab+1=ba+10a beQ
s>a*b=a*blOa beQ

Therefore, the operation * is commutative.

It can be observed that:
(1*2)*3=(1x2+4+1)*3=3*3=3x3+1
1*2*%3)=1*2x3+1)=1*7=1x7+1
“(1*2)*3+1*(2*3);wherel,2,3€Q

Therefore, the operation * is not associative.

10

I
(0¢]
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h
(iii) On Q, * is defined by a * b :%.
It is known that:
ab=bala beqQ

ah  ba
> ? = ? Oa beQ
s>a*b=b*ala beQ
Therefore, the operation * is commutative.

For all a, b, c € Q, we have:

[Hf}\"|

A "

{ﬂ#b}*g:[ﬁh |*c: L2 ) :c:bL
3] 2 4

a|l hc*}

Y N

“*{h*c):ﬂ*{h( | LY 2 C-'bL
2 2 B

axb)rc=ax(bxc)
Therefore, the operation * is associative.
(iv) On Z*, * is defined by a * b = 23,

It is known that:

ab=balla bezZ*

=>2% =2bg, beZ*
>a*b=b*ala, beZt

Therefore, the operation * is commutative.

It can be observed that:

(1#2)#3 =20 +3 =423 =2 = 3"

1(2#3) =12 =1%2° =1264 = 2%
“(1*2)*3+1*(2*3); wherel, 2, 3€Z*
Therefore, the operation * is not associative.
(v) On Z*, * is defined by a * b =

a’.It can be observed that:

1#2=1"=1,pq 201=2"'=2
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~1*2+2*1;wherel, 22t
Therefore, the operation * is not commutative.
It can also be observed that:

g i e
(253)%4=2"+4=8x4=¢§ _(2‘} = 2"
2%(3%4)=2*3" =2%81 ="
“f(2*3)*4 2 *(3*%4); where2,3,4€e2"

Therefore, the operation * is not associative.

(vi) On R, * — {—1} is defined by u*b:ﬁ_
h+
5
:.l :a]nd 2*]:.2 :L:1-
2+1 3 1+1 2

21*2+2%*1;wherel,2eR-{-1}

It can be observed that =2

Therefore, the operation * is not commutative.

It can also be observed that:

A(1*2)*3#1*(2*3);wherel,2, 3eR-{-1}

Therefore, the operation * is not associative.

Consider the binary operation von the set {1, 2, 3, 4, 5} defined by a vb = min {a, b}.
Write the operation table of the operationv.

Answer

The binary operation v on the set {1, 2, 3, 4, 5} is defined as a vb = min {a, b}
oa,be{l,2,3,4,5}.

Thus, the operation table for the given operation v can be given as:

v|i1]12]|3]4]5
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Consider a binary operation * on the set {1, 2, 3, 4, 5} given by the following

multiplication table.

(i) Compute (2 *3) *4 and 2 * (3 * 4)

(i) Is * commutative?

(iii) Compute (2 * 3) * (4 *

5).(Hint: use the following
table)

*

1

5

1

Answer

(Y(2*3)*4=1*4=1

2% (3%4)=2%1=1

(ii) For every a, b €{1, 2, 3, 4, 5}, we have a * b = b * a. Therefore, the operation * is

commutative.

(i) (2*3)=1and (4 *5) =1
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A(2%3)*(4*5)=1*x1=1

Let*’ be the binary operation on the set {1, 2, 3, 4, 5} defined by a *' b = H.C.F. of a
and b. Is the operation *’ same as the operation * defined in Exercise 4 above?
Justifyyour answer.

Answer

The binary operation *’ on the set {1, 2, 34, 5} is defined as a *' b = H.C.F of a and b.
The operation table for the operation *’ can be given as:

*111213141]5

5]11)J1]1]1]5

We observe that the operation tables for the operations * and *’ are the same.

Thus, the operation *’ is same as the operation*.

Let * be the binary operation on N given by a * b = L.C.M. of @ and b. Find
(i) 5 %7, 20 * 16 (ii) Is * commutative?

(iii) Is * associative? (iv) Find the identity of * in N

(v) Which elements of N are invertible for the operation *?

Answer

The binary operation * on N is defined as a * b = L.C.M. of @ and b.
(i)5*7=LCM.of 5and 7 = 35

20 * 16 = L.C.M of 20 and 16 = 80

(i) It is known that:

L.C.Mofaandb=L.C.Mofbanda [1a, beN.
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@a*b=>b*a

Thus, the operation * is commutative.

(iii) For a, b, c € N, we have:
(@*b)*c=(L.CMofaand b) *c=LCMof a, b, and c
a*b*c)=a*(LCMofbandc) =L.C.Mofa, b,and c
“(@a*b)*c=a*(b*c

Thus, the operation * is associative.

(iv) It is known that:

LC.M.ofaandl =a=LCM.1andadaeN
>a*l=aga=1*a0aeN

Thus, 1 is the identity of * in N.

(v) An element a in N is invertible with respect to the operation * if there exists an
element b in N, suchthata *b =e =b * a.

Here, e =1

This means that:
LCMofaandb=1=LCMofbanda

This case is possible only when a and b are equal to 1.

Thus, 1 is the only invertible element of N with respect to the operation *.

Is * defined on the set {1, 2, 3, 4,5} bya * b = L.C.M. of a and b a binary operation?
Justify your answer.

Answer

The operation * on the set A = {1, 2, 3, 4, 5} is defined as

a*b=L.CM. of aand b.

Then, the operation table for the given operation * can be given as:

*11]1 231415
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414 41121 4 |20
51]5]10|15]1201] 5

It can be observed from the obtained table that:

3*2=2*3=6¢A,5*2=2*5=10¢A,3*4=4*3=12¢A

3*5=5*%3=15¢A,4*5=5%*%4=20¢A

Hence, the given operation * is not a binary operation.

Let * be the binary operation on N defined by @ * b = H.C.F. of a and b. Is *

commutative? Is * associative? Does there exist identity for this binary operation on N?

Answer

The binary operation * on N is defined as:

a*b=H.C.F.ofaand b

It is known that:

H.C.F.ofaand b =H.C.F.of banda [ a, beN.
sa*b=b*a

Thus, the operation * is commutative.

For a, b, c € N, we have:

(@ *b)*c=(H.C.F.ofaand b) * c = H.C.F. of @, b, and ¢
a*(b*c)=a*(H.C.F.ofband c) = H.C.F. of @, b, and ¢

“(a*b)*c=a*(b*c

Thus, the operation * is associative.

Now, an element e € N will be the identity for the operation *ifa*e=a=e*a Vae

But this relation is not true for any a € N.

Thus, the operation * does not have any identity in N.

Let * be a binary operation on the set Q of rational humbers as follows:

(Da*b=a->b(ii)a*xb=a’>+b?
(ia*b=a+ab(iv)a*b=(a—-b)
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b
(v) a*hz% (vi) a * b = ab?
Find which of the binary operations are commutative and which are associative.
Answer
(i) On Q, the operation * is defined asa * b = a — b.

It can be observed that:

plnd 135200 Dolind Boi2F3.0
23 2.3 6 632 32 6 6
1 1 1 1 1 1
o e e — —
2*37 3"y i where 5. 3€Q
Thus, the operation * is not commutative.
It can also be observed that:
(11]|(1 |]| 1 1 1 1 2=3 -l
—_— = == | e =— = —_— = = —_—
234 12 3/ 4 6 4 6 4 12 12
L LI 1N 1,1 1 1 61 5
243 4) 2 i3 47 2 12 2 12 12 12
A

[l*l]*lil*[l*lJ : where l, l lEQ

2 3,4 2 13 4 2 3 4

Thus, the operation * is not associative.

(ii) On Q, the operation * is defined as a * b = a2 + b2.
For a, b € Q, we have:

a*h=a +b" =h"+a =bh*a

s@a*b=b*a

Thus, the operation * is commutative.

It can be observed that:

[m)*j_(12+22)*3;(1-.4}m4-_5m4_-ﬁ*+43 = 4]

1#(2#3)=1%(2°+3") =1%(4+9) =1*13=1"+13" =169

o (1#2)%3#1%(2+3) ; where 1.2,3 €Q
Thus, ,the operation * is not associative.

(iii) On Q, the operation * is defined as a * b = a + ab.
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It can be observed that:
1*2=1+1x2=1+2=3
2¥|=2+2x1=2+2=4

s 1%222% - where 1,2 €Q

Thus, the operation * is not commutative.

It can also be observed that:
(1#2)#3=(1+1x2)*3=323=343x3=3+9=12
1#(2#3)=1#(2+2x3)=1#8=1+1x8=9

s(1%2)#3#1%(2+3) ;where 1,2,3 €Q

Thus, the operation * is not associative.

(iv) On Q, the operation * is defined by a * b = (a — b)2.
For a, b € Q, we have:

a*xb=(a-—-b)?
b*a=(b-a)=[-(a—-b)?=(a—-b)
~a*b=b*a

Thus, the operation * is commutative.

It can be observed that:
(1#2)*3=(1-2) #3=(-1)" *3=1#3=(1-3) =(-2)" =4
1#(2%3) = 1%(2-3)" = 1%(=1) = 1#1=(1-1) =0

S (1#2)#3%1#(243) ; where 1,2,3 €Q

Thus, the operation * is not associative.

i
(v) On Q, the operation * is defined as a*bh= T
For a, b € Q, we have:

_ab_ba_

# h b

~a¥*b=>b*a

Thus, the operation * is commutative.
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Fora, b, c € Q, we have:
ah
ab 4 © abe
{ﬂ*b}*[': N =
' 4 4 16
be
. ul u
n*{b*t‘]za*hL: 4 :-:;rf:rr_
o 16

“(@a*b)*c=a*(b*c

Thus, the operation * is associative.

(vi) On Q, the operation * is defined as a * b = ab?
It can be observed that:

11 1 1
*—iE*: ; where :,EEQ

Fo

b | —
[FE]
b

Thus, the operation * is not commutative.

It can also be observed that:

ekl gl & [‘ J g L
| 4 18 4 18 1816

,-,[l*lJ*l.ﬁl*-’
3 3 4.3 &

Thus, the operation * is not associative.

Hence, the operations defined in (ii), (iv), (v) are commutative and the operation defined
in (v) is associative.
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Find which of the operations given above has identity.

Answer

An element e € Q will be the identity element for the operation * if
a*e=a=e*a "aecqQ.

However, there is no such element e € Q with respect to each of the six operations
satisfying the above condition.

Thus, none of the six operations has identity.

Let A= N x N and * be the binary operation on A defined by
(a,b) *(c,d)=(a+c, b+d)

Show that * is commutative and associative. Find the identity element for * on A, if any.
Answer

A=NXxN

* is a binary operation on A and is defined by:

(a,b) *(c,d)=(a+c b+d)

Let (a, b), (c, d) e A

Then, a, b, c, d €N

We have:

(a, b) *(c,d)=(a+c b+d)

(¢, d)*(a b)=(c+a, d+b)=(a+c b+d)

[Addition is commutative in the set of natural numbers]

~(a, b) * (¢, d) = (c, d) * (a, b)

Therefore, the operation * is commutative.

Now, let (a, b), (¢, d), (e, ) €A

Then, a, b, c, d, e, fe N

We have:

({a.h]*{c‘.ﬁ'})*({?.j'}—{a +c, b+d)=(e. f)=(a+c+e. b+d+ [)
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(a.b)*((c.d)*(e.f))=(a.b)*(c+e. d+ f)=(a+c+e b+d+[)

((@b)*(c.d)) (e 1) = (ab)((c.d)*(e. 1))

Therefore, the operation * is associative.

An element ¢€ ={i?.-f-’_~. }E A will be an identity element for the operation * if
ate=a=e*aV a=(a.a,)eA ie. (a+e.a,+e)=(a,a,)=(¢ +a,e +a,), which is

not true for any element in A.

Therefore, the operation * does not have any identity element.

State whether the following statements are true or false. Justify.

(i) For an arbitrary binary operation *onasetN,a*a=a Ya*N.
(ii) If * is a commutative binary operation on N, thena * (b *c) = (c* b) * a
Answer

(i) Define an operation * on N as:

a*b=a+b Va, beN

Then, in particular, for b = a = 3, we have:

3*3=3+3=6=%3

Therefore, statement (i) is false.

(i) RH.S. = (c*b) *a

= (b * c) * a [* is commutative]

=a * (b * ¢) [Again, as * is commutative]

= L.H.S.

~a*(b*c)=(c*b)*a

Therefore, statement (ii) is true.

Consider a binary operation * on N defined as a * b = a3 + b3. Choose the correct
answer.
(A) Is * both associative and commutative?

(B) Is * commutative but not associative?
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(C) Is * associative but not commutative?

(D) Is * neither commutative nor associative?

Answer

On N, the operation * is defined as a * b = a + b3.

For, a, b, € N, we have:

a*b=a3+ b3=>b3+ a>= b * a[Addition is commutative in N]
Therefore, the operation * is commutative.

It can be observed that:

{I*E}*S:{I‘+2‘}*3=‘}*3=9‘+3‘=?2@+2?=?56

12(2%3) =1%(2'+3") = 1%(8+27) = 1x35= 1"+ 35 = 1+(35)" =1+42875 = 42876
“(1*2)*3+1*(2*3); wherel,2,3€N

Therefore, the operation * is not associative.

Hence, the operation * is commutative, but not associative. Thus, the correct answer is
B.
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Let f: R — R be defined as f(x) = 10x + 7. Find the function g: R —> R suchthatgof="f
og = 1r.

Answer

It is given that f: R — R is defined as f(x) = 10x + 7.
One-one:

Let f(x) = f(y), where x, y eR.

=>10x+7 =10y + 7

S>SX=Yy

~ fis a one-one function.

Onto:

Fory e R, lety = 10x + 7.

— x = =R

10

. y-7
Therefore, for any y € R, there exists =x =T = RBuch that
*-, .
f(x)= fL =1 H(L ?]+? - y—T+7=
10 ) 10

-~ fis onto.

Therefore, f is one-one and onto.

Thus, fis an invertible function.

yv=1
Let us define g: R — R as g( ) =

Now, we have:

- (10x+7)-7 _10x _

gof (x)=g(f(x))=g(10x+7 10 10

And,

.ﬁvg{y}=.f'[ﬁ(J-‘}}=.f["'_7]=m[*‘"?] tT=p-T+7=y

10 10

sogof =1, and fog =1,
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; =7
Hence, the required function g: R — R is defined as g[}',‘l =JIT.

Let f: W — W be defined as f(n) = n — 1, ifis odd and f(n) = n + 1, if n is even. Show
that fis invertible. Find the inverse of f. Here, W is the set of all whole numbers.
Answer

It is given that:

s (m—1, ifnis odd
f: W — W is defined as f(n)=

(n+1,ifn is even

One-one:
Let f(n) = f(m).
It can be observed that if n is odd and m is even, then we will haven — 1 =m + 1.
>n—-m=2
However, this is impossible.
Similarly, the possibility of n being even and m being odd can also be ignored under a
similar argument.
~Both n and m must be either odd or even.
Now, if both n and m are odd, then we have:
finN=f(m>=>n—-1=m-1=>n=m
Again, if both n and m are even, then we have:
f(nN)=film=n+1=m+1=>n=m
~fis one-one.
It is clear that any odd number 2r + 1 in co-domain N is the image of 2r in domain N
and any even number 2r in co-domain N is the image of 2r + 1 in domain N.
~fis onto.
Hence, fis an invertible function.
Let us define g: W — W as:

(m+1, if m is even

() =4
g\ } ﬁLm_l, if m is odd
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Now, when n is odd:

gof (n) =g(f(n))=g(n-1)=n-1+1=n
And, when n is even:

gof (n)=g(f(n))=g(n+1)=n+1-1=n
Similarly, when m is odd:
fog(m)=f(g(m))=f(m-1)=m-1+1=m
When m is even:
fog(m)=f(g(m))=f(m+1)=m+1-1=m
. - gof =1y, and fog =1

Thus, fis invertible and the inverse of fis given by f~! = g, which is the same as f.

Hence, the inverse of fis fitself.

If f: R —» R is defined by f(x) = x> — 3x + 2, find f(f(x)).
Answer

It is given that f: R — R is defined as f(x) = x> — 3x + 2.
F(f(x))=r(x"-3x+2)

= (¥ -3x+2) =3(x*-3x+2)+2

=x"+9x" +4-6x" —12x+4x" —3x° +Ox -6+ 2

= x* —6x® +10x% —3x

x
Show that function f: R - {x € R: —1 < x < 1} defined by f(x) = I—||' x €R is one-one
+|x
and onto function.
Answer
x
Itisgiventhat f: R —» {x € R: —1 < x < 1} is defined as f(x) = I | | , X
+|x

eR.Suppose f(x) = f(y), where x, y € R.
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X WV
==
1+ |1| I +|_1-'|

It can be observed that if x is positive and y is negative, then we have:

¥ ’
L = ETJ. =x— .V

1+x 1-y

Since x is positive and y is negative:
X>y=>x—-y>0

But, 2xy is negative.

Then, 2xy#x—y,

Thus, the case of x being positive and y being negative can be ruled out.

Under a similar argument, x being negative and y being positive can also be ruled out
~~ x and y have to be either positive or negative.

When x and y are both positive, we have:

fix)=7(»)= If.r = If_v S XFXYS Y DX=Y

When x and y are both negative, we have:

flx)=r(y)= I _11 = t S X—XY =V PN X =Y

~ fis one-one.

Now, let y € R such that -1 < y < 1.

£ RBuch that

If y is negative, then there exists x=
+ v

y ] 5
}, '\I_ ] -+ _:|_.' ) '| 4 J_J ..1"

1+y ) +[ -y l+y-y A
1+ v

Y

£(x) _I'[

1+ Y

I+ y

1I
If y is positive, then there exists x = ] — = R such that
—-1:
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~ fis onto.

Hence, fis one-one and onto.

Show that the function f: R — R given by f(x) = x? is injective.
Answer

f: R —» R is given as f(x) = x3.

Suppose f(x) = f(y), where x, y € R.

=>x3=y3.(1)

Now, we need to show that x = y.

Suppose x # y, their cubes will also not be equal.

= x3 % 3

However, this will be a contradiction to (1).

SX=Y

Hence, fis injective.

Give examples of two functions f: N — Z and g: Z — Z such that g o fis injective but g is

not injective.

(Hint: Consider f(x) = x and g(x) = !'t| )
Answer

Definef: N— Zasf(x) =xandg: Z — Z as g(x) = !1| .
We first show that g is not injective.

It can be observed that:

g(-1) = |1 =1
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g(1) = [I|=1
~g(-1) = g(1), but -1 # 1.

~ g is not injective.

Now, gof: N — Z is defined as gof (x) =g{f{x}) =g(x)=|x|.
Let x, y € N such that gof(x) = gof(y).

=[x =[¥

Since x and y € N, both are positive.

L=y x=y

Hence, gof is injective

Given examples of two functions f: N — N and g: N — N such that gof is onto but fis

not onto.

| | J'.Y—l ifx>1
(Hint: Consider f(x) = x + 1 and g(x) =1] iFy=1
Answer

Define f: N — N by,

f(x)=x+1

And, g: N — N by,
; [.r—] ifx>1
g(x) I ifx=1
We first show that g is not onto.
For this, consider element 1 in co-domain N. It is clear that this element is not an image
of any of the elements in domain N.
~ fis not onto.
Now, gof: N — N is defined by,
gof (x)= g(j'(.r]] =g(x+1)=(x+1)-1 I:_r eN=(x+1)> I]
=X
Then, it is clear that for y € N, there exists x = y € N such that gof(x) = y.

Hence, gof is onto.
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Given a non empty set X, consider P(X) which is the set of all subsets of X.

Define the relation R in P(X) as follows:

For subsets A, B in P(X), ARB if and only if A ¢ B. Is R an equivalence relation on P(X)?
Justify you answer:

Answer

Since every set is a subset of itself, ARA for all A € P(X).

~R is reflexive.

Let ARB=> A cB.

This cannot be implied to B c A.

For instance, if A = {1, 2} and B = {1, 2, 3}, then it cannot be implied that B is related
to A.

~ R is not symmetric.

Further, if ARB and BRC, then Ac Band B c C.

>AcC

= ARC

~ R is transitive.

Hence, R is not an equivalence relation since it is not symmetric.

Given a non-empty set X, consider the binary operation *: P(X) x P(X) — P(X) given by
A*B=ANB [ A, Bin P(X) is the power set of X. Show that X is the identity element
for this operation and X is the only invertible element in P(X) with respect to the
operation¥*.

Answer
It is given that *: P(X)xP(X) = P(.X)is defined as A* B= AN B Y A, Be P(X)

We know that AN X =A=XNAVAeP(X).
= A* X =A=X*AV AcP(X)

Thus, X is the identity element for the given binary operation *.

Now, an element A4 € P(.X'}is invertible if there exists B € P(.X')such that
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A*B=X=B*A. (As X is the identity element )
ie.

AmB=X=8Bn4A
This case is possible only when A = X = B.
Thus, X is the only invertible element in P(X) with respect to the given operation*.

Hence, the given result is proved.

Find the number of all onto functions from the set {1, 2, 3, ..., n) to itself.

Answer

Onto functions from the set {1, 2, 3, ... ,n} to itself is simply a permutation on n symbols
1, 2,.., n.

Thus, the total number of onto maps from {1, 2, ..., n} to itself is the same as the total

number of permutations on n symbols 1, 2, ..., n, which is n.

Let S ={a, b, c} and T = {1, 2, 3}. Find F~! of the following functions F from S to T, if it
exists.

(i) F={(a, 3), (b, 2), (¢, 1)} (ii) F = {(a, 2), (b, 1), (c, 1)}
Answer

S={a b, c}y T={1,2, 3}

(i) F: S — T is defined as:

F={(a, 3), (b, 2), (c, 1)}

>F@)=3FWB)=2,Fc)=1

Therefore, F~!: T — S is given by

F-1 ={(3, a), (2, b), (1, ©)}.

(ii) F: S — T is defined as:

F={(a 2), (b, 1), (c, 1)}

Since F (b) = F (c) = 1, Fis not one-one.

Hence, F is not invertible i.e., F~! does not exist.
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Consider the binary operations*: R xR — and 0: R x R — R defined as a*h = cr—:.‘!| and
aob =a, Oa, b eR. Show that * is commutative but not associative, o is associative

but not commutative. Further, show that Oa, b, ce R, a*(boc) = (a * b) o (a * ¢). [If
it is so, we say that the operation * distributes over the operation o]. Does o distribute

over *? Justify your answer.

Answer

It is given that *: R xR — and o: R x R — R isdefined as

a*b=|la—blandaob =a, Oa, b e R
For a, b € R, we have:

arh= c.r—:‘J|

bxa —|4’I—a|—|—[a—b}| —|u—h|
@a*b=>b*a

= The operation * is commutative.

It can be observed that,
(1%2)*3=(|1-2))*3=1%3=[1-3|=2
1#(2#3)=1%(]2-3]) =1*1=|1-1|=0
.'.{1*2}*3 # 1*{2*3} {where 1,2, 3eR)
~The operation * is not associative.
Now, consider the operation o:

It can be observed that 102 =1and 201 = 2.
2102+ 201 (wherel, 2 €eR)

~The operation o is not commutative.
Let a, b, c € R. Then, we have:
(@aob)oc=aoc=a
ao(boc)=aob=a
s>aob)oc=ao(boco)

= The operation o is associative.

Now, let a, b, c € R, then we have:

a*x(boc)=a*b=a—b
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(@a*b)o(a*c) = (|c:—h|}0{!n—c‘|}= c.r—.ﬁ|
Hence, a * (boc) =(a *b) o (a * o).

Now,
10(2*3)=1o([2-3|)=101=1

(lo2)*(1o3)=1*1=|1-1=0
210(2*3)*(102)*(103) (wherel, 2,3 €R)

- The operation o does not distribute over *.

Given a non-empty set X, let *: P(X) x P(X) — P(X) be definedas A* B = (A - B) U (B
— A), O A, B eP(X). Show that the empty set @ is the identity for the operation * and all
the elements A of P(X) are invertible with A= = A. (Hint: (A — ®) U (® — A) = Aand (A
—AU(A-A)=A*A=0).

Answer

It is given that *: P(X) x P(X) — P(X) is defined as
A*B=(A—-B)U(B-A)OA, BeP(X).

Let A € P(X). Then, we have:

A*O=(A-0O)U(®-A)=AUD=A

P*A=(0-AUA-D)=0UA=A

CA¥O=A=0*A. OAE€PX)

Thus, @ is the identity element for the given operation*.

Now, an element A € P(X) will be invertible if there exists B € P(X) such that

A*B=@® =B *A. (As ® is the identity element)

Now, we observed that A* A=(A—A)u(A—A)=gud=¢ VA P(X).

Hence, all the elements A of P(X) are invertible with A~1 = A,

Define a binary operation *on the set {0, 1, 2, 3, 4, 5} as
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(a+5, ifa+b<t
a*h=- .
la+h-6 ifa+b=z6
Show that zero is the identity for this operation and each element a # 0 of the set is
invertible with 6 — a being the inverse of a.
Answer
Let X = {0, 1, 2, 3, 4, 5}.
The operation * on X is defined as:

la+b ifa+b<6
a*b=4
la+b-6 ifa+bh=6

An element e € X is the identity element for the operation *, if a*e=a=e*a Vac X.
For a € X', we observed that:

a*l=g+0=qg [ﬂEX—-HJ+ﬂ-=:Er]

Qta=0+a=a E(JEX:‘-G-I-J:.H:E&]

Larl=g=0%a Yae X
Thus, 0 is the identity element for the given operation *.

An element a € X is invertible if there exists be X suchthata *b =0 =b * a.

[cr+h=ﬂ=h+a1 ifa+b=<6
I'E“.erh—t’::E}:h+c.r—t’r, ifa+h=6
i.e.,
a=-borb=6-a
But, X=40,1,2,3,4,5and a, b e X. Then, a # —b.
~b =6 —aistheinverse ofa [ a € X.

Hence, the inverse of an elementaeX,a # 0is6 —ai.e.,,a =6 — a.

LetA={-1,0,1,2}, B={-4,-2,0,2}and f, g: A— B be functions defined by f(x) =

I
x2 — x, X € A and g(x)= 2"“_5‘_'- ve A Are fand g equal?
Justify your answer. (Hint: One may note that two function f: A — B and g: A — B such

that f(a) = g(a) Oa €A, are called equal functions).

Answer
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Itisgiventhat A={-1,0,1, 2}, B={-4, -2,0, 2}.
Also, it is given that f, g: A — B are defined by f(x) = x> — x, x € A and

g(x)=2 ~1,xe A

I
x——
2

It is observed that:
S(-1)=(-1) =(-1)=1+1=2
3{‘1}=2‘(—'}—%‘—|= 2[%}4 =3-1=2
—n:g -
£(0)=(0) -0=0
|

g(0)= 2{1—5‘—1_ [ ] =1-1=0
= f(0)=¢g
F(M)=(1)" -1=1-1=0

g{l}zE‘l—%—lzZ[%]—lzI—I=(]'

Hence, the functions fand g are equal.

Let A = {1, 2, 3}. Then number of relations containing (1, 2) and (1, 3) which are

reflexive and symmetric but not transitive is
(A)1(B)2(C)3(D)4

Answer

The given set is A = {1, 2, 3}.

The smallest relation containing (1, 2) and (1, 3) which is reflexive and symmetric, but

not transitive is given by:
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R={(1,1),(2 2),(@, 3)(1,2),(1,3),(21), 3, 1)}

This is because relation R is reflexive as (1, 1), (2, 2), (3, 3) € R.

Relation R is symmetric since (1, 2), (2, 1) eER and (1, 3), (3, 1) eR.

But relation R is not transitive as (3, 1), (1, 2) € R, but (3, 2) ¢ R.

Now, if we add any two pairs (3, 2) and (2, 3) (or both) to relation R, then relation R will
become transitive.

Hence, the total number of desired relations is one.

The correct answer is A.

Let A = {1, 2, 3}. Then number of equivalence relations containing (1, 2) is
(A)1(B)2(C)3 (D)4

Answer

It is given that A = {1, 2, 3}.

The smallest equivalence relation containing (1, 2) is given by,

Ri={(1, 1), (2, 2), (3, 3), (1, 2), (2, 1)}

Now, we are left with only four pairsi.e., (2, 3), (3, 2), (1, 3), and (3, 1).

If we odd any one pair [say (2, 3)] to Ri, then for symmetry we must add (3, 2). Also,
for transitivity we are required to add (1, 3) and (3, 1).

Hence, the only equivalence relation (bigger than R:) is the universal relation.
This shows that the total number of equivalence relations containing (1, 2) is two.

The correct answer is B.

Let f: R — R be the Signum Function defined as

, x=0
f{.r}:J 0, x=0
|L—l. x<0
and g: R — R be the Greatest Integer Function given by g(x) = [x], where [x] is
greatest integer less than or equal to x. Then does fog and gof coincide in (0, 1]?
Answer

It is given that,
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[ 1, x>0
f: R— R is defined as f(x)=1 0, x=0
I, x<0

L

Also, g: R — R is defined as g(x) = [x], where [x] is the greatest integer less than or

equal to x.

Now, let x € (0, 1].

Then, we have:

[X]=1ifx=1and [x]=0if0 < x< 1.

:[;'[JL ifx=1
| £(0). ifxe(0.1)

1. ifx=1
0. ifxe(0.1)

~ fog(x)=f(g(x))= f[[x])
g(f(x))

:g{l [_1";»0]
~[1]=1

Thus, when x € (0, 1), we have fog(x) = Oand gof (x) = 1.

gof (x)

Hence, fog and gof do not coincide in (0, 1].

Number of binary operations on the set {a, b} are

(A) 10 (B) 16 (C) 20 (D) 8

Answer

A binary operation * on {a, b} is a function from {a, b} x {a, b} — {a, b}
i.e., ¥ is a function from {(a, a), (a, b), (b, a), (b, b)} — {a, b}.

Hence, the total number of binary operations on the set {a, b} is 2% i.e., 16.

The correct answer is B.



